Kansas Imputed BEAD Cost per County

KANSAS BROADBAND PLANNING

Appendix 12—Kansas Imputed BEAD Cost per County

| Total Kansas | \$700,888,642 | 96,674 | \$7,250 |
|---------------|---------------|--------|----------|
| Extremely Low | \$88,075,964 | 6,497 | \$13,556 |
| Low | \$95,690,670 | 8,098 | \$11,817 |
| Medium | \$225,726,600 | 31,226 | \$7,229 |
| High | \$291,395,408 | 50,853 | \$5,730 |

| County | Density Classi- fication (Based on BSLF/Sq Mi) | Total Cost of Pre- vious Grants and Applications (CPF, LINC) | Total Locations of Previous Grants and Applications (CPF, LINC) | Cost Per Location of Previous Grants and Applications (CPF, LINC) |
|----------|--|---|--|--|
| Wallace | Extremely Low | \$1,114,910 | 118 | \$9,448 |
| Greeley | Extremely Low | | | |
| Clark | Extremely Low | | | |
| Hamilton | Extremely Low | \$404,968 | 54 | \$7,499 |
| Hodgeman | Extremely Low | | | |
| Logan | Extremely Low | | | |
| Stanton | Extremely Low | | | |
| Comanche | Extremely Low | | | |
| Gove | Extremely Low | | | |
| Lane | Extremely Low | | | |
| Wichita | Extremely Low | | | |
| Rawlins | Extremely Low | \$37,537,984 | 2,532 | \$14,825 |
| Sheridan | Extremely Low | | | |
| Cheyenne | Extremely Low | \$9,814,000 | 438 | \$22,406 |
| Kiowa | Extremely Low | \$4,994,063 | 197 | \$25,351 |
| Kearny | Extremely Low | | | |
| Morton | Extremely Low | \$3,361,039 | 368 | \$9,133 |
| Graham | Extremely Low | | | |
| Ness | Extremely Low | | | |
| Chase | Extremely Low | | | |
| Meade | Extremely Low | | | |
| Decatur | Extremely Low | \$30,849,000 | 2,790 | \$11,057 |
| Trego | Extremely Low | | | |

Appendix 12

KANSAS BROADBAND PLANNING

Kansas Imputed BEAD Cost per County

| County | Density Classi- fication (Based on BSLF/Sq Mi) | Total Cost of Pre- vious Grants and Applications (CPF, LINC) | Total Locations of Previous Grants and Applications (CPF, LINC) | Cost Per Location of Previous Grants and Applications (CPF, LINC) |
|------------|--|---|--|--|
| Jewell | Extremely Low | | | |
| Barber | Low | | | |
| Haskell | Low | \$9,006,105 | 1,121 | \$8,034 |
| Gray | Low | | | |
| Sherman | Low | | | |
| Lincoln | Low | | | |
| Elk | Low | | | |
| Edwards | Low | | | |
| Osborne | Low | | | |
| Stevens | Low | | | |
| Smith | Low | | | |
| Rush | Low | \$4,054,231 | 62 | \$65,391 |
| Norton | Low | | | |
| Stafford | Low | \$13,309,179 | 716 | \$18,588 |
| Thomas | Low | \$14,693,000 | 1,152 | \$12,754 |
| Scott | Low | \$9,006,105 | 1,121 | \$8,034 |
| Rooks | Low | \$581,000 | 49 | \$11,857 |
| Phillips | Low | | | |
| Greenwood | Low | | | |
| Chautauqua | Low | \$7,769,549 | 1,347 | \$5,768 |
| Washington | Low | \$3,210,204 | 257 | \$12,491 |
| Harper | Low | \$10,190,465 | 171 | \$59,593 |
| Ottawa | Low | | | |
| Pawnee | Low | \$8,347,838 | 530 | \$15,751 |
| Woodson | Low | | | |
| Kingman | Low | | | |
| Wabaunsee | Low | \$14,226,542 | 1,463 | \$9,724 |
| Republic | Low | | | |
| Morris | Low | | | |
| Russell | Low | | | |
| Ellsworth | Low | | | |
| Grant | Low | | | |

KANSAS BROADBAND PLANNING

Kansas Imputed BEAD Cost per County

| County | Density Classi- fication (Based on BSLF/Sq Mi) | Total Cost of Pre- vious Grants and Applications (CPF, LINC) | Total Locations of Previous Grants and Applications (CPF, LINC) | Cost Per Location of Previous Grants and Applications (CPF, LINC) |
|--------------|--|---|--|--|
| Mitchell | Low | \$1,296,452 | 109 | \$11,894 |
| Marshall | Medium | \$9,611,872 | 671 | \$14,325 |
| Pratt | Medium | | | |
| Rice | Medium | \$10,656,923 | 895 | \$11,907 |
| Marion | Medium | \$2,510,148 | 305 | \$8,230 |
| Clay | Medium | | | |
| Anderson | Medium | \$9,761,816 | 689 | \$14,168 |
| Cloud | Medium | | | |
| Nemaha | Medium | | | |
| Coffey | Medium | \$2,904,311 | 326 | \$8,909 |
| Finney | Medium | \$14,930,698 | 1,491 | \$10,014 |
| Wilson | Medium | | | |
| Brown | Medium | \$5,127,000 | 253 | \$20,265 |
| Jackson | Medium | \$19,822,478 | 2,291 | \$8,652 |
| Doniphan | Medium | \$3,224,836 | 331 | \$9,743 |
| Ford | Medium | \$1,267,156 | 289 | \$4,385 |
| Linn | Medium | | | |
| Dickinson | Medium | \$2,330,557 | 181 | \$12,876 |
| Sumner | Medium | \$56,853,680 | 8,267 | \$6,877 |
| Bourbon | Medium | | | |
| Seward | Medium | \$10,691,663 | 1,384 | \$7,725 |
| Pottawatomie | Medium | \$7,199,498 | 814 | \$8,845 |
| Ellis | Medium | | | |
| Osage | Medium | \$7,689,464 | 1,837 | \$4,186 |
| Allen | Medium | \$6,112,790 | 385 | |
| Cowley | Medium | \$26,527,759 | 4,684 | \$5,663 |
| McPherson | Medium | | | |
| Neosho | Medium | | | |
| Barton | Medium | | | |
| Lyon | Medium | \$7,032,302 | 1,754 | \$4,009 |
| Labette | Medium | | | |
| Atchison | Medium | \$1,021,870 | 76 | \$13,446 |

Appendix 12

KANSAS BROADBAND PLANNING

Kansas Imputed BEAD Cost per County

| County | Density Classi- fication (Based on BSLF/Sq Mi) | Total Cost of Pre- vious Grants and Applications (CPF, LINC) | Total Locations of Previous Grants and Applications (CPF, LINC) | Cost Per Location of Previous Grants and Applications (CPF, LINC) |
|-------------|--|---|--|--|
| Jefferson | Medium | | | |
| Butler | Medium | \$20,449,779 | 4,303 | \$4,752 |
| Franklin | High | \$34,202,913 | 4,701 | \$7,276 |
| Cherokee | High | \$10,984,086 | 1,949 | \$5,636 |
| Reno | High | \$714,105 | 170 | \$4,201 |
| Miami | High | \$38,219,552 | 4,557 | \$8,387 |
| Montgomery | High | \$12,437,314 | 1,419 | \$8,765 |
| Harvey | High | \$5,563,016 | 813 | \$6,843 |
| Geary | High | \$13,850,738 | 2,113 | \$6,555 |
| Crawford | High | | | |
| Saline | High | \$25,613,393 | 2,437 | \$10,510 |
| Riley | High | \$16,748,008 | 1,467 | \$11,417 |
| Leavenworth | High | \$34,471,871 | 4,790 | \$7,197 |
| Douglas | High | \$18,237,659 | 4,333 | \$4,209 |
| Shawnee | High | \$18,857,805 | 2,122 | \$8,887 |
| Sedgwick | High | \$42,283,821 | 15,372 | \$2,751 |
| Wyandotte | High | \$1,602,368 | 276 | \$5,806 |
| Johnson | High | \$17,608,759 | 4,334 | \$4,063 |